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Practice Paper 2009-2010

Please read this information before the examination starts.

e This examination is 60 minutes long.

All questions should be attempted.

A row of dots .......... denotes a space for your answer.

You must show all your working or you may receive no marks.

Answers given as fractions should be reduced to their lowest terms.
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b An}?, Beth, Chiis and bonna stop at the newsagent's shop on their way tomg from
{i} Ann buys a bar of chocelate costing 58p and a magazine costing £3.79 K
How much does she spend altogether? = ;
' - : MAGAZINE :

e

; i
<! o
43

AnswerE ,,,,,, (1
(i) Beth spends £2.39 on a birthday card for her mother. SR ""'Lr‘-'-- '
How much change does she receive if she pays with a £10 note? o) 0 t;
om0
‘4""!’ Bisypar

. Answer: £

(i) Chris buys twelve stamps costing 48p each.

What is the tota] cost of the twelve stamps?

Answeri £ .
{iv) Donna spends £5.20 on a packet of eight identical péns,
~ What would be the cost of one of these pens? '
ANSWeI: i o pence (2)
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2. (@) Calculate
(28 —-12+4+2X3

ANSWET: sosnnvmavimvrmmraveresiven (2)
(W) § x4
b3 T N — (2)
(b) (i) Write 140 as the product of its prime factors.
O
| Answer: ............................................. —— (2)

(i) What is the smallest whole number by which 140 must be multiplied to obtain
a square number? -

PIVSWETY cnssintad i s motin nidinnommensny (1)
(@]
3. Work out
(i) 2.52 x 0.7
ADSWET: oo eeeemseeseeeeseessonns @
(i) 252 = 0.7
ANSWEL: eeecrccseereenesiren e (2)
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4. Look at the list of numbers below.

4 5 16 20 27 29

Not using any number more than once, write down

(i) a multiple of 8

ANSWET: vvnvrareasecsramasssisisis s ssiatasunnnan, (1)

(i) a square number
1)

ATISWET: wovveeeraessnrannrnrentnstarrsssanssessnesssionmnns (1)
(iil) a cube number

BINSWIBTS wruiivesios vvnssones uss s avius (s conmsrvons (1)
(iv) a prime number

ANSWET? ceverisuniraesisnsisessnaromsassnrnsanssssesssssase (0
(v) a factor of 60

o A (1)
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5. (a) The price of a DVD, which usually costs £18, is reduced by 15% in a sale.

What is the sale price of the DVD? : @ ,
Iié
e

ANSWER £ orreveveesrerecrrcreranrarenennns (2)

(b) Write 84 centimetres as a fraction of 3 metres.
Give your answer in its simplest form.

Answer: N —— (2)

6. (a) At Pete’s garage, diesel costs 106.9 pence per litre.
Mrs Cooper fills her fuel tank with 31 litres of diesel.
Estimate the cost, in pounds, of filling her fuel tank with diesel.

ANSWEr: £ e (2)

{b) An urn contains 5.8 litres of orange juice.
It is used to fill glasses which each hold 285 millilitres.
Estimate how many glasses can be filled from the urn.
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tical bisthday cakes.

k; h 2 iden
75 am ing his birthday with 21 e ‘
S fAl Sl bx GElpEATg 6 A ’ ¢ a cake and his friends eat 11 cakeq

. 1
Sam eats 4 of a cake, his sister eats § ©

between them.

(i) How many cakes have been eaten altogether? w

ANSWET: .evvemnersesmmsmsersscnsni. (3)

Sam’s mother and father share what is Jeft of the cakes equally.
(i) What fraction of a cake does Sam's mother eat? @
. '1(:‘

(b) 2 of aclass of 24 children are girls.
% of the girls and % of the boys learn a musical instrument.
How many children in the class learn a musical instrument?

ANSWEL: eeeeeeeeeeeeeeseaseeinen (3

(c) Ittakes 13 hours to drive the red bus round its route
The red bus is driven round its route for 42 hours each week
How many times does the red bus complete the route each v;reek’«’

- -
---------------------------------
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8. (a) When a=5 b=2 c¢=-3 findthe value of
(i) 3a + 4c

| BNBWEL ...ciussnssmemmiersssuee (1)
(iiy a -~ be
O Answer: ....... S TR (2)
(iii) 4¢2

BRBHNEI ssvspeaseosmmmmnnems e (2)

W

(iv) =2
' : BABWER wuenprumpussnovsonmeoaioens (2)

(b) The formula s= L“—";L)t relates distance, velocity and time.

Calculate t when s=60 u=6 and v=9

Answer: e asssmsmmmsnsegmes (3)
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9, (a) Solve the following equations:

() 2m+4=28

Answer: m=

(i) 3(2n — 4) = 10n + 4

(@’
Answer:ns‘ .............................................. (3) '
(b) (i) Solve the following inequalities:
(@) 3g+5<23
ANSWEL: ooveeiresarsnsssssasssassiasmamarasrsasansnsraisssss (2
(b) -2q <10 ‘¢
ANSWET: w.vureerneriascasisnesseessams e sennsasesmebantee: (1) g
(ii) Show the range of values that g can take on the number line below.
—r T T 1 T T <=
40 -9 "8 7 6 5 43 2710 1 2 é tlt la [15 -'; I3 glgw'
2
5.A. 2839126 8 f
{
{
g o






11. Use the grid opposite to complete the following:
(i) Plot the points (2, 3), (6, 3), (4, 5) and (2, 5).
Join the points in order, to form a .quradrilateral.

- Label the quadrilateral A. - | ' N -

- (i) Reflect q'uadrilateral Aintheline y=7 : ,
Labelthe image B. = _ , | (@)

T : o, ‘ : , . int (8, 7).
(i) Rotate quadrilateral A through 90° anti-clockwise about the point (8, 7) | e
Labelthe imagec. = S ' ' @

- (iv) Translate quadrilateral A by 4 units to the left and 2 units up. |
Label the image D. | @
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12, Ma Baker's Coffeo Shop salls four different types of cake- — 8 G

SRy
One week, Ma Baker sold 90 cakos as follow | - -‘ £
35 wera lemon |

-4 were chocolate
10% were ginger
the rest were colfee

(i) How many degrees will show cach cake on a pié chart? -

| (i) Draw a 1ully-!abe\ledpie chartjto show Ma Baker’s cake sales.

— @)
(iii) The following week, sales of lemon, ginger and coffee cakes remalned the same,
but sales of chocolate cakes doubled
(a) How many cakes did Ma Baker sell altogether during the secehd week? '
ANSWELT ot (1)
b) What will be the angle for le : i e, P
" the second week? ’ mion cakes on a pie chart Showing the sales for
Answer (1)

)
-------------------------------
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A e L ..o 88 pmts are equwalent to 5 lltres
(l) HOW many plnts are equrvalent to 25 lltres’? s S

| __Answer;ﬂ:_‘_,;.i._...'."...'.-.-.._: Ipints Y

(u) On the gnd below draw a llne to convert volumes m lltres to plnts up to 50 lltres

1OOA_
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(lu) Showmg clearly where you take your readmgs use the graph to answer the '
followmg questlons : 5 o

(a) A barrel holds 36 Iltres B
What is thls volume in plnts’?
S Answer pints  (2)

(b) On Monday Debble uses 25 lltres of cream
- On Friday she uses 75 plnts of cream _ __
How many more lltres of crearn does she use on Fnday than on Monday’? o

L CANSWN i litres (2)
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